
FIAT 
 

 
 

125        07.1967 - 03.1974 
OEM Info F / R Type   Type F/ R Info OEM 

4 193 224 with accessories 

with right-hand thread 

 

  
3133 3133 

 
 

 
with accessories 

with right-hand thread 

4 193 224 

 

 

3133 3133 

 

 
127        06.1971 - 12.1986 

OEM Info F / R Type   Type F/ R Info OEM 

5 958 246 with right-hand thread 

Thread Size: M10x1 

 

  3046 3046  
 

 
with right-hand thread 

Thread Size: M10x1 

5 958 246 

 

 
3046 3046 

 

 
128        03.1969 - 12.1984 

OEM Info F / R Type   Type F/ R Info OEM 

4 402 361 Control Arm 

without bush 

Thread Size: M12x1,5 

 

 
 

 
1238 

 
1238 

 

 

 
Control Arm 

without bush 

Thread Size: M12x1,5 

4 402 361 

 

 
 

 

1238 1238 

 

 
132        04.1972 - 12.1982 

OEM Info F / R Type   Type F/ R Info OEM 

4 193 224 with accessories 

with right-hand thread 

 

  3133 3133  
 

 
with accessories 

with right-hand thread 

4 193 224 

 

 
3133 3133 

 

 
1000er-Serie       01.1950 - 12.1970 

OEM Info F / R Type   Type F/ R Info OEM 

4 193 224 with accessories 

with right-hand thread 

 

  3133 3133  
 

 
with accessories 

with right-hand thread 

4 193 224 

 

 
3133 3133 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



FIAT 
 

 

 
1500 Convertible       06.1964 - 10.1967 

OEM Info F / R Type   Type F/ R Info OEM 

4 193 224 with accessories 

with right-hand thread 

 

  3133 3133  
 

 
with accessories 

with right-hand thread 

4 193 224 

 

 

3133 3133 

 

 
500 / 500 C         -7,2015 

OEM Info F / R Type   Type F/ R Info OEM 

51 786 814 
Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 240 mm 

 

 
 

 

 

 

 

6070 

 

6070 

 

 

 

 

 
 

Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 240 mm 

51 786 814 

50 700 464 Suspension Rod   5133 5133   Suspension Rod 50 700 464 

77 362 507 Thread Size: M12x1,5 

Outer Thread: M10x1,25 mm 

 

  3134 3135  
 

 
Thread Size: M12x1,5 

Outer Thread: M10x1,25 mm 

77 362 508 

50 709 579 Control Arm 

Cast Steel 

for vehicles without Xenon light 

 

 
 

 
1239 

 
1240 

 

 

 
Control Arm 

Cast Steel 

50 709 580 

50 710 671 Control Arm 

Cast Steel 

for vehicles without Xenon light 

 

 
 

 
1241 

 
1242 

 

 

 
Control Arm 

Cast Steel 

50 710 670 

50 700 198    2421 2421    50 700 198 

50 710 620    2145 2145    50 710 620 
 

 

6070 6070 

 
 
 

5133 5133 

 
 

 

3134 3135 

 
 
 

1239 1240 

 
 
 

1241 1242 

 
 
 

2421 2421 

 
 
 

 
2145 2145 



FIAT 
 

 
 

ALBEA (178_)        -4,1996 
OEM Info F / R Type   Type F/ R Info OEM 

46 456 189 
Suspended 

with accessories 

 

  
 

 
3137 

 
3136  

 

 

 
Height: 68 mm 

Suspended 

with accessories 

46 456 660 

46 779 293 with accessories   4064 4064   with accessories 46 779 293 

46 437 959 with add-on material 

Cone Size: 15 mm 

Thread Size: M12x1,25 

 

 
 

 
4065 

 
4065 

 

 

 
with add-on material 

Cone Size: 15 mm 

Thread Size: M12x1,25 

46 437 959 

46 454 595 Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

 

 
  

 

 

1243 

 

1244  
 

 

 
 

Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

46 454 596 

46 454 597 Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

 

 
  

 

 

1245 

 

1246  
 

 

 
 

Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

46 454 598 

 

 

3137 3136 

 
 
 

4064 4064 

 
 
 

4065 4065 

 
 

 
1243 1244 

 
 
 

 
1245 1246 

 

 
ARGENTA (132A)       05.1977 - 03.1987 

OEM Info F / R Type   Type F/ R Info OEM 

4 193 224 with accessories 

with right-hand thread 

 

  3133 3133  
 

 
with accessories 

with right-hand thread 

4 193 224 

 

 

3133 3133 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



FIAT 
 

 

 

BARCHETTA (183)       03.1995 - 05.2015 
OEM Info F / R Type   Type F/ R Info OEM 

9 948 343 
Length: 245 mm 

Thread Size: M14x1,5 

Thread Measurement 1: M12x1,5 

 

 
 

 

 

 

 

6071 

 

6071 

 

 

 

 

 
 

Length: 245 mm 

Thread Size: M14x1,5 

Thread Measurement 1: M12x1,5 

9 948 343 

9 945 562    6072 6072    9 945 562 

7 752 285 with right-hand thread   3138 3138   with right-hand thread 7 752 285 

46 402 681 Control Arm 

Steel 

 

  
1248 1247 

 
 

 
Control Arm 

Steel 

46 402 682 

 

 

6071 6071 

 
 

6072   
                                                  

   6072 

3138 3138 

 
 
 

 
1248 1247 

 

 
BRAVA / BRAVO (182)       10.1995 - 02.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 939 675 
Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 265 mm 

 

 
 

 

 

 

 

6073 

 

6073 

 

 

 

 

 
 

Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 265 mm 

9 939 675 

60 570 627 Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

 

 
 

 
 
 

 

5000 

 

5000 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

60 570 627 

60 809 495 for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

 

 
 

 

 
 
 

 

 
3001 

 

 
3000 

 
 
 

 

 
 

 

for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

60 809 494 

60 565 706 Inner Thread: M12x1,5 mm 

with right-hand thread 

 

  3007 3008  
 

 
Inner Thread: M12x1,5 mm 

with right-hand thread 

60 565 705 

98 845 030    3002 3002    98 845 030 

46 423 822 Control Arm 

Cast Steel 

 

  
1250 1249 

 
 

 
Control Arm 

Cast Steel 

46 423 823 

46 423 824 Control Arm 

Steel 

 

  
1001 1000 

 
 

 
Control Arm 

Steel 

46 423 825 

 

 

6073 6073 

 
 
 

5000 5000 



FIAT 
 

FIAT 
 

 
 
 

BRAVA / BRAVO (182) 10.1995 - 02.2015 

 
 
 

3001 

 
 
 

3000 

 
 

3007 

 
 

3008 

 
 

3002 

 
 

3002 

 
 

1250 

 
 

1249 

 

 
1001 

 

 
1000 

 

 

 
BRAVO II (198)        -6,2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 949 217    6313 6313    9 949 217 

50 700 464 Suspension Rod   5133 5133   Suspension Rod 50 700 464 

9 949 218 Inner Thread: M12x1,5 mm 

with accessories 

 

  3139 3139  
 

 
Inner Thread: M12x1,5 mm 

with accessories 

9 949 218 

50 705 463 Height: 55 mm   4066 4066   Height: 55 mm 50 705 463 

50 705 464    1251 1252    50 705 465 
 

 

6313 6313 

 
 
 

5133 5133 

 
 
 

3139 3139 

 
 
 

4066 4066 

 
 
 
 
 

1251 1252 

 
 
 
 
 
 
 
 



FIAT 
 

 
CINQUECENTO (170)       07.1991 - 07.1999 

OEM Info F / R Type   Type F/ R Info OEM 

7 636 995 Control Arm 

Steel 

 

  
1254 1253 

 
 

 
Control Arm 

Steel 

7 636 996 

 

 
1254 1253 

 

 
COUPE (FA/175)       11.1993 - 08.2000 

OEM Info F / R Type   Type F/ R Info OEM 

60 570 627 Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

 

 
 

 
 
 

 

5000 

 

5000 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

60 570 627 

60 809 495 for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

 

 
 

 

 
 
 

 

 
3001 

 

 
3000 

 
 
 

 

 
 

 

for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

60 809 494 

60 565 706 Inner Thread: M12x1,5 mm 

with right-hand thread 

 

  3007 3008  
 

 
Inner Thread: M12x1,5 mm 

with right-hand thread 

60 565 705 

46 423 824 Control Arm 

Steel 

 

  
1001 1000 

 
 

 
Control Arm 

Steel 

46 423 825 

 

 

5000 5000 

 
 
 

3001 3000 

 
 
 

3007 3008 

 
 
 

 
1001 1000 

 

 
CROMA (154)       12.1985 - 12.1996 

OEM Info F / R Type   Type F/ R Info OEM 

82 387 676 with right-hand thread 

Outer Thread: M14x1,5 mm 

Cone Size: 14 mm 

with accessories 

 

 
 

 
 
 

 

3011 

 

3011 
 

 
 

 

 
 

with right-hand thread 

Outer Thread: M14x1,5 mm 

Cone Size: 14 mm 

with accessories 

82 387 676 

60 801 425 Cone Size: 13 mm   4001 4001   Cone Size: 13 mm 60 801 425 

82 403 643 for control arm   2146 2146   for control arm 82 403 643 

 

 

3011 3011 

 
 

4001 4001 

2146 2146 



FIAT 

CROMA (194) -5,2015 

 

 

 
CROMA (194)        -5,2015 

OEM Info F / R Type   Type F/ R Info OEM 

 Thread Measurement 1: M18x1,5 

Thread Size 2: M14x1,5 

Length: 260 mm 

 

 
 

 

 

 

 

6075 

 

6075 

 

 

 

 

 
 

Thread Measurement 1: M18x1,5 

Thread Size 2: M14x1,5 

Length: 260 mm 

 

51 741 130    5456 5456    51 741 130 

77 363 713 Thread Size: M12x1,5 

Inner Thread: M14x1,5 mm 

with accessories 

 

  
 

 
3140 

 
3141  

 

 

 
Thread Size: M12x1,5 

Inner Thread: M14x1,5 mm 

with accessories 

77 363 712 

51 748 653 Control Arm 

Aluminium 

 

  
1255 1256 

 
 

 
Control Arm 

Aluminium 

51 748 652 

71 740 107 Mounting Type: Hydro Bearing 

Outer Diameter: 77,5 mm 

Inner Diameter: 19,0 mm 

 

  
 

 
2147 

 
2147  

 

 

 
Mounting Type: Hydro Bearing 

Outer Diameter: 77,5 mm 

Inner Diameter: 19,0 mm 

71 740 107 

 Outer Diameter: 35,5 mm   2150 2150   Outer Diameter: 35,5 mm  
71 740 112 Suspension Rod 

Length: 86 mm 

Total Length: 127 mm 

Sheet Steel 

 

 
 

 
 
 

 

5457 

 

5457 
 

 
 

 

 
 

Suspension Rod 

Length: 86 mm 

Total Length: 127 mm 

Sheet Steel 

71 740 112 

51 748 740 Sheet Steel   1257 1257   Sheet Steel 51 748 740 

51 748 736 Outer Diameter: 70,2 mm 

Inner Diameter: 12,1 mm 

Total Length: 65 mm 

Length: 44 mm 

 

 
 

 
 
 

 

2148 

 

2148 
 

 
 

 

 
 

Outer Diameter: 70,2 mm 

Inner Diameter: 12,1 mm 

Total Length: 65 mm 

Length: 44 mm 

51 748 736 

51 803 162 for control arm 

Inner Diameter: 14,05 mm 

Length: 54 mm, 24,93 mm 

Outer Diameter: 47,25 mm 

 

 
 

 
 
 

 

2149 

 

2149 
 

 
 

 

 
 

for control arm 

Inner Diameter: 14,05 mm 

Length: 54 mm, 24,93 mm 

Outer Diameter: 47,25 mm 

51 803 162 

 

 

6075 6075 

 

 
5456 5456 

 
 
 

3140 3141 

 
 
 

1255 1256 

 
 
 

2147 2147 

 
 

2150 2150 

5457 5457 



FIAT 
 

 
CROMA (194) -5,2015 

 

 
1257 1257 

 
 
 

2148 2148 

 
 
 

 
2149 2149 

 

 
Doblo / Doblo Cargo (119, 223)        -1,2015 

OEM Info F / R Type   Type F/ R Info OEM 

98 845 026    6314 6314    98 845 026 

98 845 025    6316 6316    98 845 025 

46 456 189 
Suspended 

with accessories 

 

  
 

 
3137 

 
3136  

 

 

 
Height: 68 mm 

Suspended 

with accessories 

46 456 660 

98 845 030    3002 3002    98 845 030 

46 779 293 with accessories   4064 4064   with accessories 46 779 293 

46 543 045    4067 4067    46 543 045 

46 539 001    1258 1259    46 539 000 

46 767 267 Coupling Rod   5458 5458   Coupling Rod 46 767 267 

 

 

6314 6314 

 
 

6316                                                        6316 

 
3137 3136 

 
 
 

3002 3002 

 
 
 

4064 4064 

 
 
 

4067 4067 



FIAT 
 

 
 

 

 

Doblo BODX BODY / ESTATE / Doblo Cargo (263)       -9,2015 
OEM Info F / R Type   Type F/ R Info OEM 

26 144 989 
Thread Measurement 1: M18x1,5 

Thread Size 2: M14x1,5 

 

 
 

 
 

6315 
 

6315 

 

 
 

 
Thread Measurement 1: M18x1,5 

Thread Size 2: M14x1,5 

26 144 989 

 

 

6315 6315 

 

 
DUCATO (230, 230L)       03.1994 - 02.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 945 836    6060 6060    9 945 836 

13 00 716 080 Suspension Rod 

Thread Size: M12x1,25 

Length: 134 mm 

Steel 

 

 
 

 
 
 

 

5120 

 

5120 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M12x1,25 

Length: 134 mm 

Steel 

13 00 716 080 

13 06 716 080 with right-hand thread   3120 3120   with right-hand thread 13 06 716 080 

13 02 368 080    4057 4057    13 02 368 080 

13 00 473 080    4058 4058    13 00 473 080 

13 31 640 080 with accessories   4059 4059   with accessories 13 31 640 080 

13 31 641 080 with accessories   4060 4060   with accessories 13 31 641 080 

1320 786 080 Control Arm Cone 

Size: 20 mm 

 

  
1222 1223 

 
 

 
Control Arm Cone 

Size: 20 mm 

1320 787 080 

1320 755 080 Control Arm Cone 

Size: 24 mm 

 

  
1224 1225 

 
 

 
Control Arm Cone 

Size: 24 mm 

1320 756 080 

 

 

6060 6060 

 
 
 

5120 5120 

 
 
 

3120 3120 

 

 

4057 4057 

 
 
 

4058 4058 

 
 
 

4059 4059 

 

 

 

Doblo / Doblo Cargo (119, 223) -1,2015 

1258 1259 

5458 5458 



FIAT 
 

 
 
 

4060 4060 

 
 
 

1222 1223 

 
 
 

 
1224 1225 

 

 
DUCATO (244, Z_)        -2,2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 945 836    6060 6060    9 945 836 

13 00 716 080 Suspension Rod 

Thread Size: M12x1,25 

Length: 134 mm 

Steel 

 

 
 

 
 
 

 

5120 

 

5120 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M12x1,25 

Length: 134 mm 

Steel 

13 00 716 080 

13 06 716 080 with right-hand thread   3120 3120   with right-hand thread 13 06 716 080 

77 362 278 with accessories   3121 3121   with accessories 77 362 278 

13 31 640 080 with accessories   4059 4059   with accessories 13 31 640 080 

13 31 641 080 with accessories   4060 4060   with accessories 13 31 641 080 

1320 786 080 Control Arm Cone 

Size: 20 mm 

 

  
1222 1223 

 
 

 
Control Arm Cone 

Size: 20 mm 

1320 787 080 

1320 755 080 Control Arm Cone 

Size: 24 mm 

 

  
1224 1225 

 
 

 
Control Arm Cone 

Size: 24 mm 

1320 756 080 

 

 

6060 6060 

 
 
 

5120 5120 

 
 
 

3120  

 
 

 

3121 3121 

 
 
 

4059 4059 

 
 
 

4060 4060 

 
 
 

1222 1223 

 
 
 

 
1224 1225 



FIAT 
 

 

 
DUCATO (250)        -6,2015 

OEM Info F / R Type   Type F/ R Info OEM 

1341 019 080 
Thread Measurement 1: M16x1,5 

Thread Size 2: M16x1,5 

Length: 239,5 mm 

 

 
 

 

 

 

 

6059 

 

6059 

 

 

 

 

 
 

Thread Measurement 1: M16x1,5 

Thread Size 2: M16x1,5 

Length: 239,5 mm 

1341 019 080 

77 364 253 Suspended 

Inner Thread: M16x1,5 mm 

Outer Thread: M14x1,5 mm 

Length: 210 mm 

for left-/right-hand traffic 

 

 
 

 

 
 
 

 

 
3518 

 

 
3119 

 
 
 

 

 
 

 

Suspended 

Inner Thread: M16x1,5 mm 

Outer Thread: M14x1,5 mm 

Length: 210 mm 

for left-/right-hand traffic 

77 364 009 

50 705 629    4056 4056    50 705 629 

1352 227 080 Control Arm 

Cast Steel 

 

  
1218 1219 

 
 

 
Control Arm 

Cast Steel 

1352 225 080 

1352 228 080 Control Arm 

Cast Steel 

 

  
1220 1221 

 
 

 
Control Arm 

Cast Steel 

1352 226 080 

13 52 357 080 Suspension Rod 

Length: 100 mm 

Pipe Ø: 8 mm 

Thread Size: M10x1,25 

 

 
 

 
 
 

 

5119 

 

5119 
 

 
 

 

 
 

Suspension Rod 

Length: 100 

mm Pipe Ø: 8 

mm 

Thread Size: M10x1,25 

13 52 357 080 

 

 

6059 6059 

 
 
 

3518 3119 

 
 

 

DUCATO (280)       01.1982 - 08.1990 
OEM Info F / R Type   Type F/ R Info OEM 

97 50 079 980 Length: 80 mm 

Cone Size: 16 mm 

Inner Thread: M16x1,5 mm 

with right-hand thread 

Thread Size: M16x1,5 

 

 

 

 

 
 

 

 

 
3103 

 

 
3103 

 
 

 

 

 

 

 

Length: 80 mm 

Cone Size: 16 mm 

Inner Thread: M16x1,5 mm 

with right-hand thread 

Thread Size: M16x1,5 

97 50 079 980 

 
 

3103 3103 

 

 
 
 
 

 
 
 

4056 4056 

1218 1219 

1220 1221 

5119 5119 



FIAT 
 

 
DUCATO (290)       01.1990 - 05.1994 

OEM Info F / R Type   Type F/ R Info OEM 

97 50 079 980 Length: 80 mm 

Cone Size: 16 mm 

Inner Thread: M16x1,5 mm 

with right-hand thread 

Thread Size: M16x1,5 

 

 
 

 

 
 
 

 

 
3103 

 

 
3103 

 
 
 

 

 
 

 

Length: 80 mm 

Cone Size: 16 mm 

Inner Thread: M16x1,5 mm 

with right-hand thread 

Thread Size: M16x1,5 

97 50 079 980 

7 576 732 Control Arm 

without ball joint, with rubber 

mounting 

only with: 11591 

Steel 

 

 
 

 

 
 
 

 

 
1201 

 

 
1200  

 
 

 

 
 

 

Control Arm 

without ball joint, with rubber 

mounting 

only with: 11591 

Steel 

7 576 731 

 

 

3103 3103 

 
 
 

 
1201 1200 

 

 
DUNA / Duna Weekend (146 B)       01.1987 - 12.1991 

OEM Info F / R Type   Type F/ R Info OEM 

5 958 246 with right-hand thread 

Thread Size: M10x1 

 

  3046 3046  
 

 
with right-hand thread 

Thread Size: M10x1 

5 958 246 

5 939 683 Control Arm 

with rubber mounting 

Sheet Steel 

 

 
 

 
1261 

 
1260 

 

 

 
Control Arm 

with rubber mounting 

Sheet Steel 

5 939 645 

 

 

3046 3046 

 
 
 

 
1261 1260 

 

 
FIORINO Box Body / Estate (225)        -8,2015 

OEM Info F / R Type   Type F/ R Info OEM 

51 704 008 Suspension Rod 

Length: 290 mm 

Thread Size: M10x1,25 

 

  
 

 
5122 

 
5122  

 

 

 
Suspension Rod 

Length: 290 mm 

Thread Size: M10x1,25 

51 704 008 

77 364 568 Cone Size: 14 mm 

Thread Size: M10x1,25 

Length: 112 mm 

 

  
 

 
3122 

 
3123  

 

 

 
Cone Size: 14 mm 

Thread Size: M10x1,25 

Length: 112 mm 

77 364 569 

51 783 056    4002 4002    51 783 056 

51 783 057 Control Arm 

Sheet Steel 

 

  
1531 1532 

 
 

 
Control Arm 

Sheet Steel 

51 783 056 

51 783 056 Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

 

 
  

2000 
 

2000 
  

 
Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

51 783 056 

51 783 056 Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

 

  
 

 
2001 

 
2001  

 

 

 
Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

51 783 056 

 

 

5122 5122 

 
 
 

3122 3123 

 
 
 

4002 4002 



FIAT 
 

 
 

 

 

1531 1532 

 
 
 

2000 2000 

 
 
 

 
2001 2001 

 

 
IDEA         -3,2015 

OEM Info F / R Type   Type F/ R Info OEM 

50 703 232    1262 1263    50 703 231 

77 362 502    6079 6079    77 362 502 

 

 

 
LINEA (323)         -7,2015 

OEM Info F / R Type   Type F/ R Info OEM 

51 704 008 Suspension Rod 

Length: 290 mm 

Thread Size: M10x1,25 

 

  
 

 
5122 

 
5122  

 

 

 
Suspension Rod 

Length: 290 mm 

Thread Size: M10x1,25 

51 704 008 

77 364 568 Cone Size: 14 mm 

Thread Size: M10x1,25 

Length: 112 mm 

 

  
 

 
3122 

 
3123  

 

 

 
Cone Size: 14 mm 

Thread Size: M10x1,25 

Length: 112 mm 

77 364 569 

51 783 056    4002 4002    51 783 056 

51 783 057 Control Arm 

Sheet Steel 

 

  
1531 1532 

 
 

 
Control Arm 

Sheet Steel 

51 783 056 

51 783 056 Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

 

 
  

2000 
 

2000 
  

 
Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

51 783 056 

51 783 056 Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

 

  
 

 
2001 

 
2001  

 

 

 
Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

51 783 056 

 

 

5122 5122 

 
 
 

3122 3123 

 
 
 

4002 4002 

FIORINO Box Body / Estate (225) -8,2015 

1262 1263 

6079 6079 



FIAT 
 

 
 

 

 

1531 1532 

 
 
 

2000 2000 

 
 
 

 
2001 2001 

 

 
Marea / Marea Weekend (185)       09.1996 - 07.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 947 713 Length: 320 mm 

Outer Thread: M14x1,5 mm 

 

 
 

 
6058 6058 

 
 

 

 
Length: 320 mm 

Outer Thread: M14x1,5 mm 

9 947 713 

46 413 122 Suspension Rod 

Length: 276 mm 

Thread Size: M10x1,25 

 

  
 

 
5137 

 
5137  

 

 

 
Suspension Rod 

Length: 276 mm 

Thread Size: M10x1,25 

46 413 122 

9 947 926    3142 3142    9 947 926 

98 845 030    3002 3002    98 845 030 

46 423 824 Control Arm 

Steel 

 

  
1001 1000 

 
 

 
Control Arm 

Steel 

46 423 825 

 

 

6058 6058 

 

 

5137 5137 

 
 
 

3142 3142 

 
 
 

3002 3002 

 
 
 

 
1001 1000 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

LINEA (323) -7,2015 



FIAT 
 

 
MULTIPLA (186)       04.1999 - 10.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 947 713 Length: 320 mm 

Outer Thread: M14x1,5 mm 

 

 
 

 
6058 6058 

 
 

 

 
Length: 320 mm 

Outer Thread: M14x1,5 mm 

9 947 713 

46 413 122 Suspension Rod 

Length: 276 mm 

Thread Size: M10x1,25 

 

  
 

 
5137 

 
5137  

 

 

 
Suspension Rod 

Length: 276 mm 

Thread Size: M10x1,25 

46 413 122 

98 845 030    3002 3002    98 845 030 

46 525 407 Control Arm   1264 1265   Control Arm 46 522 142 

 

 

6058 6058 

 
 
 

5137 5137 

 
 
 

3002 3002 

 
 
 

 
1264 1265 

 

 
PALIO / PALIO Weekend (178BX, 178DX)        -4,1996 

OEM Info F / R Type   Type F/ R Info OEM 

7 079 382    6080 6080    7 079 382 

9 948 292    6081 6081    9 948 292 

7 081 851 Length: 248 mm 

Outer Thread: M14x1,5 mm 

Thread Size: M14x1,5 

 

 
 

 
 

6082 
 

6082 

 

 
 

 
Length: 248 mm 

Outer Thread: M14x1,5 mm 

Thread Size: M14x1,5 

7 081 851 

46 456 189 
Suspended 

with accessories 

 

  
 

 
3137 

 
3136  

 

 

 
Height: 68 mm 

Suspended 

with accessories 

46 456 660 

46 779 293 with accessories   4064 4064   with accessories 46 779 293 

46 437 959 with add-on material 

Cone Size: 15 mm 

Thread Size: M12x1,25 

 

 
 

 
4065 

 
4065 

 

 

 
with add-on material 

Cone Size: 15 mm 

Thread Size: M12x1,25 

46 437 959 

46 454 595 Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

 

 
  

 

 

1243 

 

1244  
 

 

 
 

Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

46 454 596 

46 454 597 Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

 

 
  

 

 

1245 

 

1246  
 

 

 
 

Control Arm 

with ball joint, with rubber 

mounting 

Sheet Steel 

46 454 598 

 

 

6080 6080 

 
 
 

6081 6081 



FIAT 
 

 
 

 

 

6082 6082 

 
 
 

3137 3136 

 
 
 

4064 4064 

 
 
 

4065 4065 

 
 
 

1243 1244 

 
 
 

 
1245 1246 

 

 
PANDA (169)        -3,2015 

OEM Info F / R Type   Type F/ R Info OEM 

50 703 296 Suspension Rod 

Steel 

Length: 315,0 mm 

 

  
 

 
5138 

 
5138  

 

 

 
Suspension Rod 

Steel 

Length: 315,0 mm 

50 703 296 

77 362 507 Thread Size: M12x1,5 

Outer Thread: M10x1,25 mm 

 

  3134 3135  
 

 
Thread Size: M12x1,5 

Outer Thread: M10x1,25 mm 

77 362 508 

50 703 128    1266 1267    50 703 129 

50 707 303 Control Arm 

Cast Steel 

 

  
1268 1269 

 
 

 
Control Arm 

Cast Steel 

50 707 304 

77 362 506    6083 6083    77 362 506 

50 704 671 Coupling Rod   5139 5139   Coupling Rod 50 704 671 
 

 

5138 5138 

 
 
 

3134 3135 

 
 
 

1266 1267 

 
 
 

1268 1269 

PALIO / PALIO Weekend (178BX, 178DX) -4,1996 



FIAT 
 

 
 

 

 
 

 

5139 5139 

 

 
PANDA (312)        -12,2015 

OEM Info F / R Type   Type F/ R Info OEM 

50 700 464 Suspension Rod   5133 5133   Suspension Rod 50 700 464 
 

 
5133 5133 

 

 
PANDA / PANDA Van (141, 141A_)       03.1980 - 04.2015 

OEM Info F / R Type   Type F/ R Info OEM 

5 960 834    3143 3143    5 960 834 

4 402 644    4024 4024    4 402 644 

4 402 672 Control Arm 

Steel 

 

  
1540 1540 

 
 

 
Control Arm 

Steel 

4 402 672 

 

 

3143 3143 

 

 

4024 4024 

 
 
 

 
1540 1540 

 

 
PUNTO (176, 176C, 176L)       04.1994 - 06.2000 

OEM Info F / R Type   Type F/ R Info OEM 

9 948 343 
Length: 245 mm 

Thread Size: M14x1,5 

Thread Measurement 1: M12x1,5 

 

 
 

 

 

 

 

6071 

 

6071 

 

 

 

 

 
 

Length: 245 mm 

Thread Size: M14x1,5 

Thread Measurement 1: M12x1,5 

9 948 343 

9 945 562    6072 6072    9 945 562 

7 752 285 with right-hand thread   3138 3138   with right-hand thread 7 752 285 

46 402 681 Control Arm 

Steel 

 

  
1248 1247 

 
 

 
Control Arm 

Steel 

46 402 682 

 

 

6071 6071 

 
 
 

6072 6072 

PANDA (169) -3,2015 

6083 6083 



FIAT 
 

 
 

 

 

3138 3138 

 
 
 

 
1248 1247 

 

 
PUNTO (188, 188AX)        -9,1999 

OEM Info F / R Type   Type F/ R Info OEM 

9 948 343 
Length: 245 mm 

Thread Size: M14x1,5 

Thread Measurement 1: M12x1,5 

 

 
 

 

 

 

 

6071 

 

6071 

 

 

 

 

 
 

Length: 245 mm 

Thread Size: M14x1,5 

Thread Measurement 1: M12x1,5 

9 948 343 

7 752 285 with right-hand thread   3138 3138   with right-hand thread 7 752 285 

46 545 660 Control Arm   1270 1271   Control Arm 46 545 661 
 

 

6071 6071 

 
 
 

3138 3138 

 
 
 
 

1270 1271 

 

 
PUNTO / PUNTO EVO / PUNTO GRANDE        -5,2015 

OEM Info F / R Type   Type F/ R Info OEM 

 Length: 269 mm 

Outer Thread: M14x1,5 mm 

Thread Size: M14x1,5 

 

 
 

 
 

6004 
 

6004 

 

 
 

 
Length: 269 mm 

Outer Thread: M14x1,5 mm 

Thread Size: M14x1,5 

 

50 515 276 Suspension Rod 

Thread Size: M10x1,25 

Steel 

 

  
 

 
5010 

 
5010  

 

 

 
Suspension Rod 

Thread Size: M10x1,25 

Steel 

50 515 276 

77 363 829 
Suspended 

Thread Size: M10x1,5 

Thread Measurement 1: M14x1,5 

 

 
 

 
 
 

 

3014 

 

3015 
 

 
 

 

 
 

Suspended 

Thread Size: M10x1,5 

Thread Measurement 1: M14x1,5 

77 363 830 

51 783 056    4002 4002    51 783 056 

51 783 057 Control Arm 

Sheet Steel 

 

  
1531 1532 

 
 

 
Control Arm 

Sheet Steel 

51 783 056 

51 783 056 Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

 

 
  

2000 
 

2000 
  

 
Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

51 783 056 

51 783 056 Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

 

  
 

 
2001 

 
2001  

 

 

 
Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

51 783 056 

 

 

6004 6004 

PUNTO (176, 176C, 176L) 04.1994 - 06.2000 



FIAT 
 

 
 

 

 

5010 5010 

 
 
 

3014 3015 

 
 
 

4002 4002 

 
 
 

1531 1532 

 
 
 

2000 2000 

 
 
 

 
2001 2001 

 

 
QUBO (225)         -8,2015 

OEM Info F / R Type   Type F/ R Info OEM 

51 704 008 Suspension Rod 

Length: 290 mm 

Thread Size: M10x1,25 

 

  
 

 
5122 

 
5122  

 

 

 
Suspension Rod 

Length: 290 mm 

Thread Size: M10x1,25 

51 704 008 

51 783 056    4002 4002    51 783 056 

51 783 057 Control Arm 

Sheet Steel 

 

  
1531 1532 

 
 

 
Control Arm 

Sheet Steel 

51 783 056 

51 783 056 Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

 

 
  

2000 
 

2000 
  

 
Outer Diameter: 73,7 mm 

Inner Diameter: 12,4 mm 

Length: 66 mm 

51 783 056 

51 783 056 Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

 

  
 

 
2001 

 
2001  

 

 

 
Outer Diameter: 42,3 mm 

Inner Diameter: 19 mm 

Length: 67,5 mm 

51 783 056 

 

 

5122 5122 

 
 
 

4002 4002 

 
 
 

1531 1532 

 
 
 

2000 2000 

PUNTO / PUNTO EVO / PUNTO GRANDE -5,2015 



FIAT 
 

 
REGATA / REGATA Weekend (138) 09.1983 - 12.1990 

 
 

2001 2001 

 

 
REGATA / REGATA Weekend (138)       09.1983 - 12.1990 

OEM Info F / R Type   Type F/ R Info OEM 

4 402 361 Control Arm 

without bush 

Thread Size: M12x1,5 

 

 
 

 
1238 

 
1238 

 

 

 
Control Arm 

without bush 

Thread Size: M12x1,5 

4 402 361 

 

1238   
                                                  

   1238 

 
RITMO / RITMO I / RITMO II / RITMO Convertible      10.1979 - 07.1989 

OEM Info F / R Type   Type F/ R Info OEM 

4 402 361 Control Arm 

without bush 

Thread Size: M12x1,5 

 

 
 

 
1238 

 
1238 

 

 

 
Control Arm 

without bush 

Thread Size: M12x1,5 

4 402 361 

 

1238 1238 

 

 
SCUDO (220, 220L, 220P)       02.1996 - 06.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 947 713 Length: 320 mm 

Outer Thread: M14x1,5 mm 

 

 
 

 
6058 6058 

 
 

 

 
Length: 320 mm 

Outer Thread: M14x1,5 mm 

9 947 713 

13 08 664 080 Suspension Rod 

Thread Size: M12x1,25 

Length: 122 mm 

Steel 

 

 
 

 
 
 

 

5118 

 

5118 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M12x1,25 

Length: 122 mm 

Steel 

13 08 664 080 

13 06 003 080 with right-hand thread 

Inner Thread: M14x1,5 mm 

with accessories 

 

  
 

 
3517 

 
3517  

 

 

 
with right-hand thread 

Inner Thread: M14x1,5 mm 

with accessories 

13 06 003 080 

77 362 279 
Length: 75 mm 

Cone Size: 15,45 mm 

Thread Measurement 1: M14x1,5 

Thread Size 2: M10x1,25 

 

 
 

 

 
 
 

 

 
3114 

 

 
3114 

 
 
 

 

 
 

 

Length: 75 mm 

Cone Size: 15,45 mm 

Thread Measurement 1: M14x1,5 

Thread Size 2: M10x1,25 

77 362 279 

13 13 083 080 
Control Arm 

with ball joint, with rubber 

mounting, with fastening material 

Steel 

 

 
 

 

 
 
 

 

 
1216 

 

 
1217  

 
 

 

 
 

 

Control Arm 

with ball joint, with rubber 

mounting, with fastening material 

Steel 

13 13 084 080 

 

 

6058 6058 

 
 
 

5118 5118 



FIAT 
 

 
SCUDO (220, 220L, 220P) 02.1996 - 06.2015 

 

 
3517 3517 

 
 
 

3114 3114 

 
 
 

 
1216 1217 

 

 
SCUDO (270_)        -7,2015 

OEM Info F / R Type   Type F/ R Info OEM 

14 01 381 280 
Thread Measurement 1: M16x1,5 

Thread Size 2: M14x1,5 

Length: 282 mm 

 

 
 

 

 

 

 

6055 

 

6055 

 

 

 

 

 
 

Thread Measurement 1: M16x1,5 

Thread Size 2: M14x1,5 

Length: 282 mm 

14 01 381 280 

14 00 099 680 Suspension Rod 

Thread Size: M12x1,75 

 

  5121 5121  
 

 
Suspension Rod 

Thread Size: M12x1,75 

14 00 099 680 

94 03 817 738 Cone Size: 18 mm 

Thread Size: M14x1,5 

Length: 80 mm 

 

  
 

 
3115 

 
3115  

 

 

 
Cone Size: 18 mm 

Thread Size: M14x1,5 

Length: 80 mm 

94 03 817 738 

1497 408 080 Control Arm 

Cast Steel 

Cone Size: 19 mm 

 

 
 

 
1226 

 
1227 

 

 

 
Control Arm 

Cast Steel 

Cone Size: 19 mm 

1497 407 080 

 

 

6055 6055 

 
 
 

5121 5121 

 
 
 

3115 3115 

 
 
 

 
1226 1227 

 

 
SEDICI         -6,2015 

OEM Info F / R Type   Type F/ R Info OEM 

71 742 688    5140 5140    71 742 688 
 

 

5140 5140 



FIAT 
 

 

 
SEICENTO (187)       01.1998 - 10.2015 

OEM Info F / R Type   Type F/ R Info OEM 

7 636 995 Control Arm 

Steel 

 

  
1254 1253 

 
 

 
Control Arm 

Steel 

7 636 996 

 

 

1254 1253 

 

 
STILO / STILO Multi Wagon (192)       10.2001 - 10.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 949 217    6313 6313    9 949 217 

50 700 464 Suspension Rod   5133 5133   Suspension Rod 50 700 464 

9 949 218 Inner Thread: M12x1,5 mm 

with accessories 

 

  3139 3139  
 

 
Inner Thread: M12x1,5 mm 

with accessories 

9 949 218 

50 705 463 Height: 55 mm   4066 4066   Height: 55 mm 50 705 463 

50 700 797 Control Arm   1272 1273   Control Arm 50 700 779 

50 705 464    1251 1252    50 705 465 

50 705 083 Control Arm 

Cast Iron 

 

  
1274 1275 

 
 

 
Control Arm 

Cast Iron 

50 705 084 

51 705 704 Length: 116 mm 

Diameter [mm]: 8 

 

  5007 5006  
 

 
  

 

6313                                                        6313 

 
5133 5133 

 
 

3139 3139 

 
 
 

4066 4066 

 
 
 

1272 1273 

 
 
 

1251 1252 

 
 
 

1274 1275 

 
 

5007 5006 



FIAT 
 

 

 
STRADA (178E)        -9,1998 

OEM Info F / R Type   Type F/ R Info OEM 

7 081 851 Length: 248 mm 

Outer Thread: M14x1,5 mm 

Thread Size: M14x1,5 

 

 
 

 
 

6082 
 

6082 

 

 
 

 
Length: 248 mm 

Outer Thread: M14x1,5 mm 

Thread Size: M14x1,5 

7 081 851 

46 456 189 
Suspended 

with accessories 

 

  
 

 
3137 

 
3136  

 

 

 
Height: 68 mm 

Suspended 

with accessories 

46 456 660 

46 779 293 with accessories   4064 4064   with accessories 46 779 293 

46 543 045    4067 4067    46 543 045 

46 539 001    1258 1259    46 539 000 
 

 

6082 6082 

 
 
 

3137 3136 

 
 
 

4064 4064 

 
 
 

4067 4067 

 
 
 
 

1258 1259 

 

 
TALENTO (290)       03.1989 - 03.1994 

OEM Info F / R Type   Type F/ R Info OEM 

97 50 079 980 Length: 80 mm 

Cone Size: 16 mm 

Inner Thread: M16x1,5 mm 

with right-hand thread 

Thread Size: M16x1,5 

 

 
 

 

 
 
 

 

 
3103 

 

 
3103 

 
 
 

 

 
 

 

Length: 80 mm 

Cone Size: 16 mm 

Inner Thread: M16x1,5 mm 

with right-hand thread 

Thread Size: M16x1,5 

97 50 079 980 

7 576 732 Control Arm 

without ball joint, with rubber 

mounting 

only with: 11591 

Steel 

 

 
 

 

 
 
 

 

 
1201 

 

 
1200  

 
 

 

 
 

 

Control Arm 

without ball joint, with rubber 

mounting 

only with: 11591 

Steel 

7 576 731 

 

 

3103 3103 

 
 
 

 
1201 1200 



FIAT 
 

 

 
TEMPRA (159)       03.1990 - 12.1998 

OEM Info F / R Type   Type F/ R Info OEM 

9 939 675 
Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 265 mm 

 

 
 

 

 

 

 

6073 

 

6073 

 

 

 

 

 
 

Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 265 mm 

9 939 675 

60 570 627 Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

 

 
 

 
 
 

 

5000 

 

5000 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

60 570 627 

60 809 495 for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

 

 
 

 

 
 
 

 

 
3001 

 

 
3000 

 
 
 

 

 
 

 

for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

60 809 494 

46 423 822 Control Arm 

Cast Steel 

 

  
1250 1249 

 
 

 
Control Arm 

Cast Steel 

46 423 823 

 

 

6073 6073 

 
 
 

5000 5000 

 
 
 

3001 3000 

 
 
 
 

1250 1249 

 

 
TIPO (160)        07.1987 - 04.1995 

OEM Info F / R Type   Type F/ R Info OEM 

9 939 675 
Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 265 mm 

 

 
 

 

 

 

 

6073 

 

6073 

 

 

 

 

 
 

Thread Measurement 1: M14x1,5 

Thread Size 2: M12x1,5 

Length: 265 mm 

9 939 675 

60 570 627 Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

 

 
 

 
 
 

 

5000 

 

5000 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M10x1,25 

Length: 114 mm 

Steel 

60 570 627 

60 809 495 for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

 

 
 

 

 
 
 

 

 
3001 

 

 
3000 

 
 
 

 

 
 

 

for vehicles with power steering 

Inner Thread: M12x1,5 mm 

with right-hand thread 

Length: 130 mm 

Cone Size: 13 mm 

60 809 494 

46 407 372 Control Arm 

Cast Steel 

 

  
1277 1276 

 
 

 
Control Arm 

Cast Steel 

46 407 373 

46 423 822 Control Arm 

Cast Steel 

 

  
1250 1249 

 
 

 
Control Arm 

Cast Steel 

46 423 823 

 

 

6073 6073 



FIAT 
 

 
 

 

 

5000 5000 

 
 
 

3001 3000 

 
 
 

1277 1276 

 
 
 

 
1250 1249 

 

 
ULYSSE (179AX)       08.2002 - 11.2015 

OEM Info F / R Type   Type F/ R Info OEM 

77 362 280 
Length: 299 mm 

Thread Measurement 1: M14x1,5 

Thread Size 2: M14x1,5 

 

 
 

 

 

 

 

6054 

 

6054 

 

 

 

 

 
 

Length: 299 mm 

Thread Measurement 1: M14x1,5 

Thread Size 2: M14x1,5 

77 362 280 

13312 09080 Suspension Rod 

with accessories 

 

  5116 5116  
 

 
Suspension Rod 

with accessories 

13312 09080 

77 362 279 
Length: 75 mm 

Cone Size: 15,45 mm 

Thread Measurement 1: M14x1,5 

Thread Size 2: M10x1,25 

 

 
 

 

 
 
 

 

 
3114 

 

 
3114 

 
 
 

 

 
 

 

Length: 75 mm 

Cone Size: 15,45 mm 

Thread Measurement 1: M14x1,5 

Thread Size 2: M10x1,25 

77 362 279 

94 03 817 738 Cone Size: 18 mm 

Thread Size: M14x1,5 

Length: 80 mm 

 

  
 

 
3115 

 
3115  

 

 

 
Cone Size: 18 mm 

Thread Size: M14x1,5 

Length: 80 mm 

94 03 817 738 

13 46 384 080 Control Arm   1210 1211   Control Arm 13 46 385 080 

1356 060 080 Control Arm 

Cast Steel 

Cone Size: 17 mm 

 

 
 

 
1212 

 
1213 

 

 

 
Control Arm 

Cast Steel 

Cone Size: 17 mm 

1356 061 080 

1401 239 580 Control Arm 

Cast Steel 

 

  
1214 1215 

 
 

 
Control Arm 

Cast Steel 

1401 239 480 

 

 

6054 6054 

 
 
 

5116 5116 

TIPO (160) 07.1987 - 04.1995 



 

 FIAT 

ULYSSE (179AX) 08.2002 - 11.2015 

 
 
 

3114 

 
 
 

3114 

 
 

3115 

 
 

3115 

 
 

1210 

 
 

1211 

 
 

1212 

 
 

1213 

 

 
1214 

 

 
1215 

 



FIAT 
 

 

 
ULYSSE (220)       06.1994 - 02.2015 

OEM Info F / R Type   Type F/ R Info OEM 

9 947 713 Length: 320 mm 

Outer Thread: M14x1,5 mm 

 

 
 

 
6058 6058 

 
 

 

 
Length: 320 mm 

Outer Thread: M14x1,5 mm 

9 947 713 

13 08 664 080 Suspension Rod 

Thread Size: M12x1,25 

Length: 122 mm 

Steel 

 

 
 

 
 
 

 

5118 

 

5118 
 

 
 

 

 
 

Suspension Rod 

Thread Size: M12x1,25 

Length: 122 mm 

Steel 

13 08 664 080 

13 06 003 080 with right-hand thread 

Inner Thread: M14x1,5 mm 

with accessories 

 

  
 

 
3517 

 
3517  

 

 

 
with right-hand thread 

Inner Thread: M14x1,5 mm 

with accessories 

13 06 003 080 

13 13 083 080 
Control Arm 

with ball joint, with rubber 

mounting, with fastening material 

Steel 

 

 
 

 

 
 
 

 

 
1216 

 

 
1217  

 
 

 

 
 

 

Control Arm 

with ball joint, with rubber 

mounting, with fastening material 

Steel 

13 13 084 080 

 

 

6058 6058 

 
 
 

5118 5118 

 
 
 

3517 3517 

 

 
 

UNO (146A/E)       01.1983 - 06.2015 
OEM Info F / R Type   Type F/ R Info OEM 

5 958 246 with right-hand thread 

Thread Size: M10x1 

 

  3046 3046  
 

 
with right-hand thread 

Thread Size: M10x1 

5 958 246 

5 939 683 Control Arm 

with rubber mounting 

Sheet Steel 

 

 
 

 
1261 

 
1260 

 

 

 
Control Arm 

with rubber mounting 

Sheet Steel 

5 939 645 

 

 

3046 3046 

 
 
 

1261 1260 

UNO (146A/E) 01.1983 - 06.2015 

1216 1217 


